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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0012
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0026
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0054
>>> layers 1 to 22
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tolerance = 0.0056
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0060
>>> layers 1 to 22
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tolerance = 0.0062
>>> layers 1 to 22
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tolerance = 0.0064
>>> layers 1 to 22
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tolerance = 0.0066
>>> layers 1 to 22
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tolerance = 0.0068
>>> layers 1 to 22
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tolerance = 0.0070
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0074
>>> layers 1 to 22
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tolerance = 0.0076
>>> layers 1 to 22
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tolerance = 0.0078
>>> layers 1 to 22
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tolerance = 0.0080
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0086
>>> layers 1 to 22
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tolerance = 0.0088
>>> layers 1 to 22
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tolerance = 0.0090
>>> layers 1 to 22
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tolerance = 0.0092
>>> layers 1 to 22
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tolerance = 0.0094
>>> layers 1 to 22
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tolerance = 0.0096
>>> layers 1 to 22
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tolerance = 0.0098
>>> layers 1 to 22
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tolerance = 0.0100
>>> layers 1 to 22
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tolerance = 0.0102
>>> layers 1 to 22
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tolerance = 0.0104
>>> layers 1 to 22
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tolerance = 0.0106
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0134
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0160
>>> layers 1 to 22
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tolerance = 0.0162
>>> layers 1 to 22
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tolerance = 0.0164
>>> layers 1 to 22
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tolerance = 0.0166
>>> layers 1 to 22
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tolerance = 0.0168
>>> layers 1 to 22
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tolerance = 0.0170
>>> layers 1 to 22
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tolerance = 0.0172
>>> layers 1 to 22
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tolerance = 0.0174
>>> layers 1 to 22
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tolerance = 0.0176
>>> layers 1 to 22
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tolerance = 0.0178
>>> layers 1 to 22
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tolerance = 0.0180
>>> layers 1 to 22
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tolerance = 0.0182
>>> layers 1 to 22
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tolerance = 0.0184
>>> layers 1 to 22
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tolerance = 0.0186
>>> layers 1 to 22
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tolerance = 0.0188
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0196
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0200
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0216
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0238
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0248
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0254
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0266
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0294
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0302
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0320
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0322
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0324
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0330
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0350
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0370
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0402
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0404
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0450
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0474
>>> layers 1 to 22
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tolerance = 0.0476
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0482
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0484
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>
>
>
 
A
C
A
E



tolerance = 0.0520
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0538
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0560
>>> layers 1 to 22
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tolerance = 0.0562
>>> layers 1 to 22

>
>
>
 
A
C
A
E
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>>> layers 1 to 22
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tolerance = 0.0566
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0572
>>> layers 1 to 22
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tolerance = 0.0574
>>> layers 1 to 22
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tolerance = 0.0576
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0580
>>> layers 1 to 22
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tolerance = 0.0582
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0586
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0594
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0596
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0614
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0618
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0626
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0644
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0698
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0738
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0746
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E
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>>> layers 1 to 22
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tolerance = 0.0766
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0776
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0818
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0838
>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0842
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>
>
>
 
A
C
A
E



tolerance = 0.0892
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0898
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0914
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0932
>>> layers 1 to 22
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tolerance = 0.0934
>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0936
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0946
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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tolerance = 0.0960
>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22
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>>> layers 1 to 22

>
>
>
 
A
C
A
E



tolerance = 0.0996
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